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WhichWord - Sentences
Circle the letter of the word that best completes the sentence.

1) In the number 264, the ______ in the tens place is a
six.

      A. digit
      B. divisor
      C. addend
      D. subtrahend

2) In 10 divided by 2 equals 5, the ______ is 5.

      A. difference
      B. minuend
      C. product
      D. quotient

3) Another word for multiplier is ______.

      A. difference
      B. minuend
      C. multiplicand
      D. multiplication

4) The ______ of ten and five is fifteen.

      A. dividend
      B. addend
      C. difference
      D. sum

5) In 2 + 1 = 3, the ______ is 1.

      A. addend
      B. multiplicand
      C. product
      D. quotient

6) In 10 divided by 2 equals 5, the ______ is 2.

      A. quotient
      B. divisor
      C. sum
      D. factor

7) In 5 - 3 = 2, the ______ is 5.

      A. difference
      B. product
      C. minuend
      D. dividend

8) The ______ of 2 times 3 is 6.

      A. addend
      B. dividend
      C. multiplier
      D. product

9) 2 is a ______ of 6 because it divides evenly into 6.

      A. factor
      B. quotient
      C. sum
      D. dividend

10) ______ is the opposite of division.

      A. multiplication
      B. digit
      C. minuend
      D. sum
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11) The ______ of three minus one is two.

      A. multiplication
      B. difference
      C. factor
      D. dividend

12) In 10 divided by 2 equals 5, the ______ is 10.

      A. dividend
      B. subtrahend
      C. quotient
      D. sum

13) In 5 - 3 = 2, the ______ is 3.

      A. minuend
      B. difference
      C. subtrahend
      D. digit

14) In 5 x 3 = 15, the ______ is 3.

      A. multiplier
      B. multiplication
      C. minuend
      D. subtrahend
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